
Earned Value Management System

Measuring Performance in PMCP



Earned Value in PMCP

• PMCP reads several activity data items from the P3 
forecast schedule to calculate the Earned Value...

Activity Percent 
Complete

Charge Code

WBS Element



Earned Value in PMCP

• PMCP also reads the resource budget values for each 
of the activities...

Resource

Resource Budget 
(BCWS)

Note - the budget can differ from 
the Estimate at Complete (EAC).

Each activity can have 
one or more resources...
and a budget for that 
resource.



Earned Value in PMCP

• PMCP collects all of the resource budget values from all 
activities with the same WBS element and charge code...

Resource

Budget

First Activity...
Second Activity...
Third Activity

(PMCP converts hours to 
dollars for labor resources.)

WA24312

$ 33,420

REALLOW

$ 38,502

41LABOR

3,456 (hrs)



Earned Value in PMCP

• PMCP summarizes and reports the Earned Value to the WBS and 
Charge Code level.

Note - the Total BCWS (Budget at Completion - BAC) is the value 
from the approved baseline schedule, and ties to our contract 
requirements.



Earned Value in PMCP

• The formula used by PMCP to calculate performance is...
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The approved budget at completion (Total BCWS) 
stored in PMCP for the given charge code.



Earned Value in PMCP

• A simple example of how PMCP calculates BCWP...

Activity 1

Activity 2

Activity 3

Time 
Now

Activity 1 is 100% complete

Activity 2 is 80% complete

Activity 3 is 20% complete

Activity Resource Budget Rate Total Value Pct Complete P3 Earned Value
1 WA12345 $1,000 NA $1,000 100% $1,000
2 21LABOR 10 (hrs) $50/hr $500 80% $400
3 SC12345 $3,000 NA $3000 20% $600
3 41LABOR 10 (hrs) $40/hr $400 20% $80

Total $4,900 $2,080

BCWP is calculated as equal to $2,080/$4,900 * $5,000 = $2,122

The Budget Data from the P3 schedule is...

From the approved baseline 
schedule and estimate, the 
total BAC for this given 
scope of work is $5,000.



Earned Value in PMCP

• If a charge code is flagged Level of Effort (LOE) in PMCP...
then cumulative BCWP is set to the cumulative BCWS to date.

Time Now

BCWS
BAC

Cumulative BCWP = 
Cumulative BCWS
BCWP



Earned Value in PMCP

• PMCP insures that...

– Performance can never exceed the baseline Budget at Completion. 
(BCWP is always less than or equal to BAC.)

– Performance can be taken only for scope that is approved in the 
baseline schedule and estimate. No performance can be taken for 
scope outside of the baseline.

– There will be no change to the baseline that affects the Total 
Contract Scope of Work, Target Cost, Target Schedule Completion 
dates, Gold Chart metrics, FFA milestones, and PBS milestones 
without DOE approval.


